4. {x|22—ar—12=0}={-3, b} € W, a, b & ZS

5.

6.

@ 3 @ 5

e s q 9 FS

ZJoH?
® -25 @ 25 ® —100
@ 100 ® —10

3. oA a2 —x—-1=09 3t Zol 1L, a 9
& o2 ko] 3-8 oY
-2 ®©-1 ®0 @1 ® 2

ERE,
Da=1,b=3 @ a=2 b=4
@ a=1,b=4 @ a=-1,b=—-4

®a=1,b=—4

{z|]2? =3z +a=0}N{z|2® =5z —b=0} = {2} &
o, a — b °] F-27?

@ 4 @ -6 OG-8 @s ® —4

OJZPLAFA (2—-2)2=32-6 F L2 a, b T
o, (a — b)(a +b) — 3(a +b) 9] & T3tk (H,
a>b)

e 5 A% A = {z|2-3=0} , B =
{o |22 +1=0} °f tisto] o|ZYEA (z — 3)(2z +
1) =0 9] s

® AnB @ A°NB ® A-B

@ AUB ® Acu B°

OJZPYHA 42? —8r +a =0 °] TS 7HE ©), 11
S otofEt




